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 حركة المقذوفـــات

Projectiles Motion 
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توضيحية أمثلةExamples Illustrative
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900 ft400 ft

 ـلــــالحـ
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164 ftsec045

030

 ــلـالحـــ

232.2 ftsecg

2

2

sin2 cos

co

( )

s

u
R

g
 

164 ftsecu030045

2 2

2

2(64) cos 2(64)
3 1 62.08 ft

3(32.2)32.2cos

45sin(45

30

30)
R  

030 

2 2

2

2(64) cos 2(64)
3 1 231.7 ft

3(32.2)32.2cos (

45 sin(45 3

30)

0)
R

 ال ــ 9ــ مث

6
7

030

 

 



  

 ــلـالحـــ

2) 1( sin
2

y u t gt

A
2 2sin
2A

uY
g

B
2 2sin
4A

uY
g

B

2 2
2sin 1( s )in

4 2
u u t gt
g

 

2 2 22( ) 4( ) sin s 10 1 sinn
2

iu gtt g u ug t  

B

1 1
, sin 1 sin sicos sin n

2 2
B By gtx u u u u u  

B

2

2 22 2 1
) s( co in 1 c ss o

2 2
B Bv x u

u
y u  

cos , 0A Ayx u

2 2 cosAA yv x u  

6
7

A

B

v

v
 

2 2

2

2

2 cos 6 cos 3 cos 3Or
7 7 71 cos1 cos 1 cos

u

u
 

2 2 2 07 cos 3 3 cos cos 34 3 cos 30
2
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توضيحية أمثلةExamples Illustrative
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2Or 4(3 cos2 4 sin 2 ) 2
x

x t t x  

2

2 2
2

3 43 cos2 4 sin 2 5 cos2 sin

2 cos sin 2 )

2
5 5

5 sin 5 sin(2

t t t t

tcos t t
 

5

 ال ــ 2ــ مث

2 2 2 2)2(8 1b xv xn b

4b6b

 ــلـالحـــ

2 2 2 2)2(8 1b xv xn bx

a

2 2 2 2 2

2

ccel

2

12 (4 2 ) Or(8 )

( 2 ) Or ( 2 )

2 dvbx x vv n b b x
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